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You can help keep
your families safe
from earthquakes!

Connections Between

Tie Columns and Bond Beams
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When tying the tie columns and bond beams together, care must be taken to ensure adequate anchor length and
additional stirrups near every joint.
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Anchors should be at least 0.26m long
and turned toward each other.
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Anchors are too short. Although this
connection meets the requirements in
Sichuan, it is better to make the anchors
face each-other as pictured above.
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Anchors are too short, and the beams
are not tied to each other.
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The Column anchors must
extend 0.35m horizontally into
the top of ring beam as shown.
Ring beam anchors overlap 0.26m
like plinth beam shown below.
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Steel reinforcement in the tie
column should extend at
least 0.56m above the top of
the wall to have enough

anchor length.
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¥ The Column anchors must extend 0.35m horizontally
into the top of ring beam as shown. Ring beam
anchors overlap 0.26m like plinth beam shown below.
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Steel reinforcement is too
short; the ring beam and tie
column may easily separate.
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Overlap is too short. In Sichuan the splice
length must be at least 0.57m for 12mm
diameter ribbed steel and 0.66m for 14mm
diameter ribbed steel bars to meet

requirements.
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Best when all 8 rebars are anchored
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Away from the joint, stirrup spacing should
be no more than 20cm, and stirrup hooks
should be rotated.
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The corner lacks any anchor.
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Red Cross Society of China

to the outside bars.
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